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Instructions for the Candidates

I.  Write your roll number in the space provided on the top of this page.

2. This paper consists of fifty multiple-choice type of questions.

. At the commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to open
the booklct and compulsorily examine it as below :

(1) To have access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.

(i1) Tally the number of pages and number of questions ir
the booklet with the information printed on the cove:
page. Faulty booklets due to pages/questions missing o1
duplicate or not in serial order or any other discrepancy
should be got replaced immediately by a correct bookle
from the invigilator within the period of 5 minutes
Afterwards, neither the Question Booklet will be replacec
nor any extra time will be given.

(111) After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

4. Each item has four alternative responses marked (A), (B), (C) and

(D). You have to darken the oval as indicated below on the correct

response against each item.

Example : (A) @ O

where (C) 1s the correct response.

Ll

5. Yourresponses to the items are to be indicated in the OMR Sheet
kept inside the Paper I Booklet only. If you mark at any place
other than in the ovals in the Answer Sheet, it will not be evaluated.

6. Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

8. If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant entries,
which may disclose your identity, you will render yourself liable
to disqualification.

9. You have to return the test question booklet and OMR Answer
Sheet to the invigilators at the end of the examination compulsorily
and must not carry it with you outside the Examination Hall,

10. Use only Blue/Black Ball point pen.

1. Use of any calculator or log table etc., is prohibited.

~

12. There is no negative marks for incorrect answers.
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BRUR 1 B3 wFIw =D (S0) DRVH TRTOOL FINTI TBROQTITT. F,80880T0 TJ0IR
QT (2) S0NYI TBRODTOTT. SR TINene YST Ved.

M..--Jq

Note : This paper contains fifty (50) objective type questions, each question carries
two (2) marks. Attempt all the questions.

1. 33 3ENIYNY OB BTFO'R NNBINE 1. Predict the bond order in the following :
0,,0,,0, and Oﬁ_' 0,,0,,0, and Oi"
(A) 0;>0; >0, >0, l (A) & 05 0. 30;

(B) 0¥ >0,>0,>0} B) 05 >0, >0,50;

(& 07 50z 0] »0, (C) 057 >0;>0; >0,
(D) 0,>0;>0; >05 | (D) 0,>0%>0;>03
2. XeF, 39 wvotnnad Sudsess” 2. The hybridisation involved in XeF, 1s
3 2
(A) sp°d’ (B) sp°d’ | (A) sp’d’ (B) spd
©) d’sp’ (D) dsp® (C) d’sp’ (D) dsp’
3. ZnS 39, 32> Zre0RT 8- C30eRTF | 3. In ZnS, zinc exhibits the coordination
number
o o (A) 8 (B) 5
(C) 4 (D) 6 -
| (C) 4 (D) 6
4. B3 TWNIPYNYOT BeeSSots® 5,080 DOFCD | | |
FRBY ABINE : 4. P]:edlct thf:: ({rder of increase in covalent
NaCl, FeCl,, AICL,, SnCl,. DRERRGEN 913

| NaCl, FeCl,, AICl,, SnCl,.

(A) NaCl > F6C13 > AlICI . SnCl4
(B) FeCl3 > AlCl3 > SnCl4 > NaC(l
(52) A]Cl?1 > FE:C13 > SnCl4 > NaC(Cl
(D) SnCl4 > FeCl3 > AICI3 > NaCl

PR e O RS T KT

(A) NaCl> FeCl, > AICl, > SnCl,
(B) FBC13 > AIC]3 > SnCl4 > NaC(l
(€) AlC13 > FeCl3 > SnCl‘4 > Na(Cl
(D) SnCl‘4 5 FeCl3 > AICI3 > NaCl

StudySite.org

StudySite.org


www.studysite.org
www.studysite.org
www.studysite.org
www.studysite.org

StudySite.org StudySite.org

S. 20T WRE QTNBS* AB,, 86059, 2,000 Bee? S. Inasquare pyramidal AB, molecule if two
DOR Fedreod B georiadenn X esgnriénomon, diagonal B atoms are replaced by X, the

AB, X, STc00e NRT* point group of AB,X, is
(A) C, (B) C,, (A) C,,, (B) C,,,
©) C, D) C, ©) C, D) C.

6. 350030 BT BOCINT 11,05 Seese 6. The .corre(_:t ground stat‘e electronic
QB VT DIRGB | confi gur:afum;t ofzchromlum atom 6is 0
(A) [Ar] 3d*4s>  (B) [Ar] 3d°4s’ | (A) [Ar] 3d"4s”  (B) [Ar] 3d" 4s

(C) [Ar] 4d° 4s' (D) [Ar] 3d° 4 (C) [Ar] 4d’ 4s' (D) [Ar] 3d’ 4s

7 aﬁﬁmﬁ@ﬁﬁ@ﬁeﬂg@%m o | 7. Arrange the following as per the

3R DOED T3 : increasing order of their lattice energies :
0 BENTR, HT00 NaF, KF, CsF, LiF.
NaF, KF, CsF, LiF.

(A) CsF> KF > NaF > L.iF (A) CsF > KF > NaF > LiF

(B) NaF > CsF > LiF > KF (B) NaF > CsF > LiF > KF

(C) CsF> NaF > LiF > KF (C) CsF>NaF > LiF>KF
(D) CsF > KF > LiF > NaF (D) CsF > KF > LiF > NaF

8. Predict the solubility of the following in
dilute acids :

CdS, CuS, HgS, PbS
(A) CdS > CuS > HgS > PbS
(B) PbS > HgS > CdS > CuS
(C) CdS > CuS > PbS > HgS
(D) HgS > CuS > PbS > CdS

8. 83 FFNS FTO0OT SN @%3&1353{
NRDRNE :
CdS, CuS, HgS, PbS

(A) CdS > CuS > HgS > PbS
(B) PbS > HgS > CdS > CuS
(C) CdS > CuS > PbS > HgS
(D) HgS > CuS > PbS > CdS

9. The spin-only magnetic moment of

9. [Fe(CN) 6]3— QUWO AT* L0300 DB [Fe(CN)6]3" n
(A) 5.93 (A) 5.93
(B) 3.87 (B) 3.87
(C) 2.83 (C) 2.83
(L)) 1.73 (D) 1.73
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10. 33 3AIZHNS w—-’c’dmmr{eﬁ@j EAN dﬂ.
RDNE :

Ni(CO),, V(CO),, Co(CP), 252 Ni(CP),
(A) 18,17,19,20 (B) 20, 19, 18, 17
(C) 17,18,19,20 (D) 19,20, 17, 18

11. 33 3903 CIRRTTY) Spew @mﬂcw‘ I
&raedci’;pbda QTOREN m%@% 9

(A) SFesdess Domomd

(B) EPR .
(G) CEL
(D) MOT

12. 20T O3 -230° WRoE* I ST T* Re, Clg" 3] l
(A) 4 (B) 6
(C) 8 (D) 5

13. 2.0 SNFecd FRIY FLBT FZTOT |
B-SUNFRS" TRHOOTIT NOF TIOID

(A) d_ B) d,_,

y

©d, D) d,

14. R0pITE N ROBNIBRRY LD TI0D |
(A) Zr &) Y nisd 08¢ %m0 TBRODTOTS

(B) Zr 252 Nb b 2,08 e38R¢800
F&éoba{gi BROOTOZH

(C) Zr &53) Hf nsd 2085 $ua=)
BROOTVIS

(D) Zr 2 Zn nsh 2.otie &3R50 2S00
BROOTOTES

-l ;
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10.

11.

12.

13,

14.

Predict the EAN in the following
molecules :

Ni(CO),, V(CO),, Co(CP), and N1(CP),
(A) 18,17,19,20 (B) 20, 19, 18, 17
(C) 17,18,19,20 (D) 19, 20, 17, 18
Metal ligand covalency cannot be
explained by

(A) Nephelauxetic effect

(B) EPR

(C) CFT

(D) MOT

The M — M bond order in Re, Clé'

(A) 4 (B) 6
(€ 8 (D) 5
In a square planar crystal field, the d-orbital
with the highest energy 1s
(A) d

Xy
(B) d,

o=y
(C) d

yZ
D) d,

Because of lanthanide contraction

(A) Zr and Y have the same radius

(B) Zr and Nb have the same oxidation
state

(C) Zr and Hf have the same radius

(D) Zr and Zn have same oxidation state
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15,

16.

18.

19.

20.

20T RSB CRERDY, , R0 X080
LH03ORD &ZY 9D LCINIONTR, BRCOTOI
2 WINPT SO0 FOO0WTO

(A) Fo° Bre

(B) <rex Db drexm

(C) Gnex 303D TR

(D) m Brex

CdS S Se5mn B0 g, T
(A) M—LCT (B) L-MCT
(C) d-d =3y (D) f-1 3B

CIRT LUTRFIE FROONTY, SR, WZReND
TBROTBRINTS ?
(A) ¢32-308ND

s/
—

(C) &- $Teamed>

(B) wetn-30aned
(D) man-3Tansd

83 FPNTYNSE) SR WO,
RACEEEIF ST TRODTIZTS 7

(A) Cis — [PtC] ,} (en)]

(B) Trans — [F‘tﬂ(‘jl2 (en)]

(C) [Co (en) ]

(D) Cis — [RhCl2 (NH3)4]

T3, oetdBodd wow & [Ti (H,0) ]
S RDLT fgszp::dﬁﬁ &8 FENTRINTD_ IR0
FO0LTONT ?

(A) A% PRFBET tRITS’

(B) 8% UFES

(C) worrs 850°

(D) 05-800° 0w

2,000 SUSRFS SRedeodd LOSRIT L WID)
’F sndogds. es5oon L &bl S & o

(A) L=3,5=1 |(B)L=3,8= 1:2
(C) L=2,8=1 (D)L=4ﬁs:%

1.

16.

17,

18.

19,

20.

StudySite.org

The crystal defect with equal number of
cation and anion vacancies 1s known as

(A) Frenkel defect

(B) Metal excess defect
(C) Metal deficiency defect
(D) Schottky defect

The intense yellow colour of CdS is due to
(A) M-LCT (B) L-MCT
(C) d —d transition (D) f — f transition

Neutrino is emitted during the emission of
(B) B—rays
(D) y-rays

(A) o.—rays
(C) X-rays

Which of the following complex is chiral ?
(A) Cis - [PtCl2 (en)]

(B) Trans — [PtCl2 (en)]

(C) [Co (en),]”*

(D) Cis—[RhCl . (NH3)4]

The asymmetric nature of the visible
absorption band of [Ti (H,0)]** is due to
(A) Spin forbidden transition

(B) Lattice forbidden

(C) Charge transfer

(D) John-Teller effect

The ground state of a transition metal ion
is °F. Therefore the value of L and S are

(A) L=3,S=1 (B)L=3,5= Y
(C)L=2,S=1 (D)L=4,S=%
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21. 2.0 @) 25 &N, FOHFI s pH | 21. pH of a solution at 25°C is 2. If the pH is

3030 2 SNT. 2od Sedd pH & 350D
O,MORRYATIN, F,ER N0 S03RAT
AOOEFOLD DXDLICBO 7

(A) ©3FmNTLIeB

(B) 100 e mwsnoeiess
(L) &Gdrbsamﬁdﬁea’a

(D) 100 e s@8cdnneiesd

22, & WAIPYNIS , gl. LA STOT e
TURVPIATTOT ACVAT CINTT ?

(A) NaF (B) NaOH
(C) NaNH, (D) CH,ONa
23. B35 39N C@aT* 3030030 0INE ARE®
m@a’ﬁmef,iggcs ?
Cr+2H,0 +ClO~ — Cr*’ + 3CI"+ 60H:
(A) CI' (B) Cr
() GIG (D) HZO

24. FUT°R S53ReF0D Ros3 oD B4 FSNS)NOT
ZaooN WOoWD :
SF,, CaS0,, SO, =02 H,S.
(A) 6,4, 6 3 -2
(B) 4,6, 4 o3 -1
(C) 6,6,4 =022
(D) 6,-2,6 024

8. X Y. L= Biéeéa‘ ﬁoaj;ccm BTN
+6, -2, -1 =03, T>MTT mqﬂdmd

ToRRead BRZHEI> 7
(A) XY Z, (B) X YZ
(C) XY Z (D) XYZ,

StudySite.org

22,

23.

24.

25.

to be doubled then the hydronium 1on
concentration of the solution should be

(A) Halved

(B) Increase to 100 times

(C) Doubled

(D) Should decrease by 100 times

The most basic species among the
following in gl. acetic acid is

(A) NaF (B) NaOH
(C) NaNH, (D) CH3ONa
In the following redox reaction which

species 1s reduced ?
Cr+2H,0 + ClO~ — Cr* + 3CI" + 60H"

(A) CI' (B) Cr

() CIOF (D) H20
Oxidation number of sulphur in SF,
CaSO,, SO, and H,S is respectively

(A) 6,4, 6 and -2

(B) 4, 6,4 and -1

(C) 6,6,4 and 2

(D) 6,-2,6 and 4

X. Y, Z have oxidation numbers of +6.

-2, —1 respectively. The possible formula
of the molecule will be

(A) XY222
(B) X 2YZ
(C) XYZZ
(D) XYZ,

" !E—
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26. 2A — B+ C e0\5E. Tmwo

—d[A]
d

t
N4
1

(B) TAolK

—K[A]Z,t%

I
©) TAoP K

1
D) TAoP K

27. s FNSINTS, BT BewToDR) FoRWEBCWO

Foxis
G
A 15p | =
\9F h
Fon)
0G
B) | 37| =3
(9% b
( \ ( 3\
dS JP
©lav ] 7laT
\ 7 L. ® IV
(9(G/T)) -H
Ol |
\

28. 2,07 TIRRCRT oD B, G BNEID
BRTFONTOTT. TIMWHO

(A) @ H=0
(B) B2, S=0
(C) =53, 90300a° 'uow K =0
(D) 833,900 o K =1

StudySite.org

26. For the reaction
2A - B+C

—-d[A] > .
= K[A] ,t% 1S

(D) TAoP K

27. Choose the wrong statement

(9G
Sl Tl
\ JT
/[ \
[ 0G
® |57 | =°
\ /P
o (28 (2P
AV ) (9T
- (9(G/T)) -H
2
9T ) T

28. If AG® is zero for a reaction, then

(A) AH=0
(B) AS=0

(C) Equilibrium constant K = 0
(D) Equilibrium constant K = 1
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29. ZpeacdndT BT U8R O’ |
REURFEITEDD” OIW W DRI 7
(A) Sgea (B) zs@e
(C) n-Zp e (D) n-230, 856

30. N,0O4 & Qefwzod=) 3 391 oo
AW, 2N, 0, —4NO, + O, Tone
QW TP BBFO* T TROOT. T8,
Fo0D

(A) 2B09s 8030030 WmRIER 0Tk
SNOOI T |

(B) 2amods 3030030 cdnedmROsR, 0T
SN0

(C) 00538 720530200T ABT TF* 7
3 BegTNCZTS |

(D) @000530 3900300008 QW0 To5 '
OROOWBTINTIBT

S oy
OF

9

31. CH,OCH(CI)CH,Cl S 1HNMR Zre&3:)

DI BT 7

(A) 08O PRI TBISES, 2,00 TR RIS
AOTNSES® TB) TR TP, LT B

(B) 08> T, eL0S AN, 2,00 TR |
BESET TB) TR PR’ BUSET

(C) SaBH LIS AOTISE, 20T TP, LI
LD TR TR PR B

(D) et T et LTS, 20T TPRCERAS
LT D) VR PR BT

32. 60 acmondd BRoDT womd FoCINT RIS
BRe&3T rg'a’%méaoda @odD P (m+ 1) 3N
(%39, ) 0T TeT e[, NNHIDT |

2330306 2
(A) 10 (B) 66.6
(C) 6.6 (D) 20

BRI e Y

StudySite.org

29. Electrolytic decarboxylation of propionic
acid yields

(A) hexane
(C) n-propane

(B) ethane
(D) n-butane
30. The decomposition of N,O, can be

represented as 2N,0, —4NO, + O, and 1t
follows first order kinetics and hence

(A) The reaction is bimolecular
(B) The reaction is unimolecular

(C) Its half life is independent of initial
concentration

(D) Its half life is dependent on initial
concentration

31. The IHNMR spectmmofCHSOCH(Cl)CHzCl
will exhibit

(A) A three proton doublet, one proton
singlet and a two proton doublet

(B) A three proton singlet, one proton
doublet and two proton doublet

(C) A three proton singlet, one proton
triplet and a two proton doublet

(D) A three proton triplet, one proton
triplet and a two proton doublet

32. What is the expected relative intensity(%)
of (m + 1) peak in the mass spectrum of a
compound containing 60 carbons ?

(A) 10
(B) 66.6
(C) 6.6

(D) 20
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33. 200 FEITT RoCITNTFITOD H-womsne | 33. The most convenient spectroscopic

00NY IBIRED WIBBI VCTIT03H technique to establish the presence of
22~ Do =S 339%5‘3"@; QAT intermolecular H-bonding in hydroxyl
Se compounds 18
(A) Rrmredecds® (B) IR | 1

(A) Mossbauer (B) IR
(C) EPR (D) ©=.008

(C) EPR (D) Mass

34. CH,Cl, S8 03520 9037050 Qe NR |
B0B) VRRCEINEQT® QTR QTN FCWOTE
3ez33030eD ?

34. What will be the intensity of isotopic
peaks in relation to molecular ion peak in

CH,CL, ?
(A) 1:1:1 (B) 1:2:1 (A)1:1:1 B)1:2:1
(€)9:6:1 (D) 1:3:1 (C) 9:6:] (1) L:5:1

|
35. @1 T Bnticos 08B0 wtll 09| 35

. Match the techniques given in List-I with
ERESTOR FEZNOR TN TRCOR WICWD

the regions given in List-II are in the order

gl o R List-I List-1I
D) SPe 1) Vibration
TER AR a) TR R’ spectroscopy a) Microwave
2) QT 5 2) Electronic
38R KR b) ™= $3aned spectroscopy b) Gamma rays
3) BnrtdedxeT 3) Rotational
o Fnes ¢) ,amfﬁg ‘ spectroscopy ¢) Infrared
4) Snmte3e030° | 4) Mossbauer
s TN d) e e $TeRe spectroscopy d) Ultraviolet-vis.
192134 | 1234
(A) a.d,c,b (A) a,d,c,b
(B) a.c.b.d (B) a,c, b, d
(C) d,a,b,c (€) d,a,b,c
(D) a,¢,d, b ‘ ) a.e b

36. The number of signals observed in 1H-NMR

spectrum of 3, 5-dibromo toluene are

36. 2.0 3, 5—:%2.1@@&@-? mt%c:*oa‘ai IH-NMR
BRe%3R NRRRIeTT BoBe3ns oss,
(A) 3 (B) 4 (A) 3 ) 8
() 2 (D) 6 ! (C) 2 (D) 6

StudySite.org StudySite.org


www.studysite.org
www.studysite.org
www.studysite.org
www.studysite.org

StudySite.org

37. wom C = 48.63 23 H = 8.18 p000s
Roch03R 20208S* RRZ)
(A) CHO,
(B) CHO,
(C) CHO,
(D) CH_O

6 12 6

38. S IUPAC S >/ N | s
a1 O

(A) 4-8355,°-2-Q0ex Zoe*-1-0]
(B) 2-oege-4-855, ZotnT*-1-0l
(C) 2, 4-Boegdo® TEear-1-0l

(D) 2-3m@3 Qoegdo*-4-Q0eGS* TR

39. $9NS Foohog SHIT FTSTS BRD

O
] [\

e
W ("H:’-C'H,?

(A) Z-5, 6-Boege* &5° -4-05%-3-0
(B) E-5, 6-Boeger &5 -4-D0%-3-0
(C) Z-3, 5-Begder &5° -4-05"-6-0
(D) E-3, 5—%@3@%&:‘ e:sa;-él-aa‘-tﬁ-zua*
40. 2, 3-22083e5° B3RS WTTT

D03 REDAR VT NG 20T,

(A) 2

(B) 0

(C€) 8

(D) 4

. Find the empirical formula of a compound

whose analysis are C =48.63 and H=8.18
(A) CzH 502

(B) C 4H304

(L) C?’HﬁO2

(D) C6H1206

The TUPAC name of >/ e

HO
(A) 4-Ethyl-2-methyl pentan-1-ol
(B) 2-Methyl-4-ethyl pentan-1-ol
(C) 2, 4-Dimethyl hexane-1-ol
(D) 2-Hydroxy methyl-4-methyl hexane

. The systematic name of the following

compound 1s

O
J |

!
W CH,C3

(A) Z-5, 6-Dimethyl oct-4-en-3-one
(B) E-5, 6-Dimethyl oct-4-en-3-one
(C) Z-3, 5-Dimethyl oct-4-en-6-one
(D) E-3, 5-Dimethyl oct-4-en-6-one

! 40. Number of stereoisomers possible for

2, 3-butane diol are
(A) 2
(B) 0
(C) 8

‘ (D) 4
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41. 3 9rt ERuDH Roothog IRy BRO%

;’-‘W O/
K \( and F ﬁ
S il

e o OH cCoOH

(A) am%oﬂmea{mﬁr
(B) %%Je@ﬁmrmﬁr
(C) 0R030eDRACRTE

(D) 2@dpe*

42. 3 St 8L Rookog BRI C-1 33y C-6
COR BRITeB (R, S-Beededar)a)
ROTER.

I
f
ol

(A) 1S, 6S
(B) 1R, 6S
(C) 1R, 6R
(D) 1§, 6R

43. CH3CH(Br)CH(Br)CH2CH3 ROCIVFD)
KOH 3033 S8FRa5on 0ot méﬁ

(A) 2-tinesne-BF, -2-8
(B) 3-vimesioe-3y, -2- 84
(C) 3= -3-3=
(D) &= -2-3°

StudySite.org

41. The compounds given below are

R o)
SIS
;;cs(};j cCooH

(A) Enantiomers
(B) Diastereomers
(C) Regioisomers

(D) Identical

42. The configurations (R, S-notations) at C-1
and C-6 of the compound given below are

Lo g
IS
7

(A) 15,65
(B) IR, 6S
(C) 1R, 6R
(D) 1§, 6R

43. Treatment of CH,CH(Br)CH(Br)CH,CH,
with aqueous KOH yielded

(A) 2-Bromo-Pent-2-ene
(B) 3-Bromo-Pent-2-ene
(C) Pent-3-yne
(D) Pent-2-yne

R R L R T TRt
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Na
44. 3 sonsne s N i N o
ORI AT 9
(A) CH,~CH=CH_-CH=CH-CH,
(B) CH,=CH-CH,~CH=CH-CH,
(C) CH,~CH,-C =C-CH,-CH,
(D) CH,~CH, - CH=CH-CH,CH,

45. 35 39NS CoMCDHT §0DHoHAR I0ES WIZReOT
A 353 B a3 rdchas :

7o

OH
He ’L / 1) p—TsCe/ pyridine
e £ 4 \,Q 5 i) CaCO; -
£’ '
) &
O R Q
(A)Ais YW—A ”Bisg,} £
R R 0" H
R O Q R
(B) A is ((>r 2" Bis )) {
2 ‘9 \ /]
£ 0 Q
/
R O 0
©Ais ) J\? Bis ) J\R’”
R R” R £
|
O R K 0
(D) A is }‘ B i1s \ [

44. Which of the following can be reduced

Na
by Aiq.NH3 ’

(A) CH3—CH=CH8—CH:CH——CH3
(B) CP12=(:H—~CI-12—~CH=CH—CH3
(C) CH3—CH2—*C EC—CHZ—CH3

(D) CHH—CHZ—CH=CH—CH2 CH3

45. Identify the products A and B in the
following reaction sequence :

#a .
HO ‘ ,_4\ )p-TsCel/pyridine 13
Al £ i \j{)}} i) CaCOs '
g’ *
) &
o R S
(A)Ais /\ B is > /<
K ﬁj*" e).r H
K O 0 14
. i -
(B)AIS((‘/; <HBIS ) { .
4 R K
K O 0 |
(©Ais »y—% Bis » / Fi
R \ R)} R \Q
!
O Q K 0
. \ . /
(D) A is } <  Bis /\' \’f »';
R K
R K
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46. 2000 FEeLdon” Q0T WS AT § KT’
BROOTON YVCERTO TGO m@’:ﬂ

NY)
(A) |7 )

47. &5 FINIYNID W0 P Weers
SRETIN YVOERTOR TSR LV
CH,C(=NOH) CH(CH,),

(A) CH,NHCO CH(CH D,

(B) CH,CONHCH,

(C) (CH})2 CHNHCO CH(CH3)2
(D) (CH:a) ,CHNHCO CH3

48. 535 FINIFHNYY, cIRPH LR S JOBODRO
2 03N RIS ?

StudySite.org

46. Major product in the nitration of aniline
with nitrating mixture is

N

Nea &
P ).
N/J 2~
e 7
w )
ON

gy gV
~
C) “__"‘1”#

NO,

(

NO 2

T
(D) ga}\; Q.
oN o
2,..»-

M-

47. The major product in the Beckmann
rearrangement of CH,C(=NOH) CH(CH
1S

3)2

(A) CH,NHCOCH(CH,),

(B) CH, CONHCH_

(C) (CH,), CHNHCO CH(CH,),
(D) (CH,), CHNHCOCH,

48. Which one of the following would readily
give Tollen’s test ?

StudySite.org


www.studysite.org
www.studysite.org
www.studysite.org
www.studysite.org

StudySite.org StudySite.org

49. B3 NS 30300 LYVOERNWIBITT 23S | 49. Write the product in the following :

2T00 :
O
\éb S —Proline
' S — Proline 5 = b
/< DMF, - 20°C
s ”~ o

B:

O

O l

l

(D) —
(D) — D —
LY
S50. One of the products obtained on
50. FoowATI GO0~ LT TOMODE Reimer-Tiemann reaction of

8030030 VOERTLBOTT YUSTRTE, 2,08 pyrazole 1s
(A) 3-£medraeﬁd®@af (A) 3-Chloropyridine
(B) N-gosbyrer Zounees (B) N-Formyl pyrazole
(C) 2-8eBrezdaT" (C) 2-Chloropyridine
(D) 3-matyres Foas (D) 3-Formyl pyridine

Paper L T R R R T
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